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Q1. Apollo Ltd. needs Rs. 10 lakh (one million) for expansion. The expansion is expected to yield an annual EBIT of Rs. 1, 60,000. In choosing a financial plan, AB ltd. has an objective to maximizing earning per share. It is considering the possibility of issuing equity shares and raising debt of Rs. 1, 00,000, or Rs. 4, 00,000 or Rs. 6, 00,000. The current market price per share is Rs. 25 and is expected to drop to Rs. 20 if the funds are borrowed in excess of Rs. 5, 00,000. Funds can be borrowed at the rates indicated below: (a) up to 1,00,000 at 8%; (b) over Rs 1,00,000 up to Rs. 5,00,000 at 12%; (c) over Rs. 5,00,000 at18%. Assume a tax rate of 50%.
a) Which capital structure will maximize EPS?
b) Determine and comment on the financial leverage position of the company under these three alternatives.											[5+ 5 = 10 Marks]
Q2. A bank lends Rs 500,000 @ 12% for 15 years. Prepare a loan amortization schedule to exhibit the total repayment including interest. If the loan period is reduced to 12 years, what is the total interest paid by the customer?											[5 Marks]

Q3. For each of the companies described below, would you expect it to have a medium/high or a low dividend payout ratio? Explain Why.
i) A company with a large proportion of inside ownership, all of whom are high income individuals.
ii) A growth company with an abundance of good investment opportunities
iii) A company experiencing ordinary growth that has high liquidity and much unused borrowing capacity
iv) A dividend paying company that experiences an unexpected drop in earnings from a trend.
v) A company with volatile earnings and high business risk.					[5 Marks]
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Q4. The following is the capital structure of Simons company Ltd. as on 31st March, current year Equity share: 

10,000 shares (of Rs 100 each) 					Rs 10,00,000
10% Debentures 						Rs 10,00,000
20,00,000

The market price of the company’s share is Rs 110 and it is expected that a dividend of Rs 10 per share would be declared at the end of the current year. The dividend growth rate is 6 per cent. (i) If the company is in the 35 per cent tax bracket, compute the weighted average cost of capital. (iii) Assuming that in order to finance an expansion plan, the company intends to borrow an additional fund of Rs 10 lakh bearing 12 per cent rate of interest, what will be the company’s revised weighted average cost of capital?					[6 Marks]

Q5. Evaluate the various discounted project appraisal techniques with respect to their advantage sand disadvantages. A firm is evaluating four mutually exclusive projects with initial investment of Rs 20,00,000 (Project A, 10 years), Rs 30,00,000 (Project B, 7 years), Rs 25,00,000 (Project C, 9 years) and Rs 15,00,000 (Project D, 14 years). The discount rate to be used is 12%. The firm has a budget constraint of Rs 80,00,000. Which of these projects can be selected? Compare and evaluate the NPVs of each of these projects.	[3+4+7=14 Marks]

